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1. The eigc'envarlues of the total angular momenta are given.by
@  wf+1) o ® -n(l+1).
& i+ | ®) -nfil+1) -
Seeumpeuareuppier arg) Aongs Caren 2 hggHdr Agrams Aswp sTips wHIL? |
@ w1 o ® -hl(+)

© I ® -wfil+]) |

2. In the Schrondmgers wave equatmn sz/ + (E v) v =0, V2 is equal to which one of

the following?

o M Laplacian operator = (B) Wave functioh :
(C) Totalenergy - - (D) Potential
. 2 871' Zm . . . . . L. . 2 . ! l
Vy + (E —v) y=0 ceaigudb evaETyEnEET  dMmOFOHUT G V eraTuuBeug)
SpsramLaaIdYET TEHEGE FLOD? ‘ '
A) erCeefwealar Qswed - B seessriy oy
©) Qurgsapod D) Bensipssd. P
3 In the 1mportance of wave equation, y/ is represented by which one of the following?
% electron orbital - (B) wave function
(C) energy - (D) potentlal

amws&mmum_mran @m;ﬁ]u_jmmu.mmmuﬂw y? aenLg EpsreTLenelsEnar Gf,smam; @g_f)]sél,rgg?
(A) aosrrear g mALTd | : B) madsmiy

©) sppe | D) Hersipssid

4.  Which one of the following is the principal cjuaxitum number of ‘ N’ shell electron?

w1 @ 02 ™ 3.

‘N’ arengyd <g,g)g_l)a) Lot_l_gﬁaﬂ ga_grafler WPESHeLD GeUTam, D GTerT m@uq &Q&mn_,su,u)glm
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5. In Schrodinger’s wave equation, the symbol y represents the
(A)  wavelength of the spherical wave '
y amplitude of the spherical wave
(C) frequency of the spherical wave
(D)  angle of the spherical wave

GUETIGGITEHIT DIMAE FLOGTLIML 1g.6) 2 GTeT @;6]115@ TNgE @;ﬁll.ﬂﬁl@éﬂg)gj?
(A)  Gsrer siemeular siema Berd

B) Camer swouler sme elés
©€) GCarer emevuleir Simaidlita, ereir
(D) GCaner sewerufer Camewrid

6. The quantum number that defines the shape of the 6rbital occupied by electron is

(A)  principal quantum number

& azimuthal quantum number
(C) magnetic quantum number
(D) spin quantum number

T e DieniobEIETeT Q,r'rl&]Ll_rroSlsirrmanmm,umuﬂ LD efené@Eid @eureRTLb erer
A) @gdtmm (GSUTERTL_LD GTesr

B) AfYsasd GanerL b ere

©) dHensnps GeurarmLib cresr

' ‘(D) SPHEA GeuneR_tb erewr

. Which is not true about bonding molecular orbitals?
(A) it is formed by the addition of over lapping atomic orbitals
y the wave function of a bonding MO .is given y,, =y, —y¥;

- (C) every electron in bonding contributes attractive force
(D) the lobes of atomic orbitals should have same sign for over lappmg

SenenTlIL] eLpedsn gy .%mﬁh_l_rra) EL@Q.HTG}J@O.) cr.lbg FHmy gsmmrrarg? ‘
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10.

An atomic orbltal havmg 2 angular nodes and one radial node is called
orbltal

@ 2 ® 3p | © 3 p( 4d

R(H ASD .%rn_‘ﬂu_rrw @rmvr@ Ceamewr @qma)aru.;m @05 2T @lq.&a)&u.[LD QAaner(H @@pgrra) a{gj
ST LT eTamiL@LD.

@ 2p - ® 3 o (C>-'.3d | (D)- 4

What is the atomic term symbol for He atom with electronic configuration 1s*?
(A) 281/2 ' @) | lp0 . . M 130 | (D) Y lsl

1s% eranp ereodi_ymen evwliyenw He oigmyefilen oigni Hlened v@ﬂuﬁ@ orgl?

@A) sy ®) 'p ' © *5 @) ‘s

Consider the statements : :
L. the radlal part of hydrogen atomic orbitals are called radial functlon

I the angular part of hydrogen atomic orbitals are called sphencal hormonics

III.  the apgular part of hydrogen atomic orbltals are also called Hermite polynomlai
(A) II and III are True

I and III are True

M I and IT are True

O) Al are True
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11.  For the reactions obeying Einstein’s law | _ ,
p=1 B ¢>1 ©) <1 ® ¢>>>1
BTGV 6B aﬁ]@u&]e&ruq BerL_Qumd llenanaenés 7 S
A 4=1 B) ¢>1 _ ©C é<1 @) ¢>>>1

12. In thermogravimetric analysis, the two atmospheres used mostly are

(A)  Oxygen and Hydrogen / Air and Nitrogen
(C) Oxygen and Argon | D) Air anﬂ Moisture -
Qariu LWl UEUUMLald QuEpLLITID LWeTTELD @[ @%pé)aseir
@) apedgaoppd@mings () anppiodpi eplrger '
O yseligen wHmd piramer ‘ . | D) sHm wHHD FRILILIGLD
- | |
13. Ina zero‘q‘rderreacﬁori, the half life period is equal to — I initial concentrati{?n; '

(A) - Inversely proportional

: y Directly proportional

(C) Equally proportional
/(D) Complex proportionality

. BRW apep slleenen siay fenga)s &med, by S fellHe ’ D MmEED.
@  api Adssho |
(B) Gy 9fssha
©) svarddgsde
D) fissd AbssHe

14.  Which one of the following is a Boson?

@ o ® # o ™ =
&ipsam_eupmyer rgl Gurgnenmeid? |
@ co ® F* - (© D ® H
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15,

16.

17

The temperature coefﬁciéht of most of the reactions lies between

)

1to2 ; | B) 1to3

M 2t03 S @) 1tod

QupbLirerer ellenensaficn Qmuuﬁlmwa; GRTSLD @b eSHb

@

©)

laigpbas 2 eueny - ‘ - (B) 10mpg 36uamj

2mpbg 3 eiewy . - D) 10mpg 4 cueny

The logarithm of rate cons‘tant of an jonic reaction

% mcreases linearly with the square root of the ionic strength

®

©)

®)

decreases with the increase of square root of the ionic strength
increases linearly with the square of ionic strength

decreases with the increase of ionic strength

- b Siwal efeanier Gous wirleluller wLSms mguumg'

@

®)

p ©
(D) .

Pick out the correct answer for the expression of Bose-Einstein Statistics.

ny =gyt 21
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RGY

(©)

™
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n; = g,-/é“””"" +1
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n = gi/e("ﬂ*'ﬂfi) -1
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n‘- = gi/e(ai'ﬁ&‘i) + ].

n, = gi/e(“”ﬁ“) +1
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18.  Consider the following statements :
1. Chemical potential is a state function
II. Chemical potential increases with increase in temperature

. At boiling point chemical potential of liquid and gas phases are equal
Choose the right answer :
A) LT&IMareTrue
% I & III are True, II False

- (C) II&III are True, I False
(D) 1&1II are True, III False
SpsaaL smppser AsréssiL HereTen :
L. Caud 2i(WHsd e Hlone Aewdur® yEh
II. Cag &@,%,mb sigen Qaiuflana &M@Ibcl_lﬂél Sigen SO 2 wmA P
UL  gmdrausfea Qarffemaude Hrab wppid aimieler Gaug &@5§mam SOLONE 9_armg|
sflwrer smpenp (Sgyreq GEUJUJQ.[LD '
A LI mmguun III 2 arenis

®)  Tiopgp 11T 2 aimenis, 1T gaugy
(€)  II wpmyw IIT o @renio, 1 gé.lgj
D) I wpgbd IT o &renw, ITT seum

19. Thenﬁodynamic probability
(A)  is less than mathematical probability
(B) is always equal to mathematical probability
y value varies from one to _iﬁﬁhity
(D)  is related to enfropy by S = 2RInW

- Qauliu Quisseiiue Hlapssipey ecramig
@A) sefig flapgspac ofl s G&onay
B) uCu n§1|b safls flapsspealilpEs swwreang
© sigen mﬁﬁaq gandlé QmHel @lq_\e&]sisra)m ey GMmESD
M) aaGrmiyér S = 2RInW arénnp Agm_mIed QméELD
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' 20.. According to the drawbacks of collision theory for a bimolecular reaction, the thebretical
rate value is to which one of the following type of the experimental rate yvalue?
M several times higher ‘ | ‘
(B) lower
((_3) neairly higher by small valuel
) neariy lower by small value

" Guige Qametensuer G@purBseiier L, @usm@ s sapiser LRIGCEPEL Seversefia

sensALLU@D Causoragy Spararumausdlian agh@ sowrar Cergaan apaibd SaBHUCILBD
CausgfnE FWWLIGL?
A) uvewLmEG JFsD
B) ooy
(O aligsi fsod

D) gpscepu Gapey

21.  Nuclear cross section denoted by

@ = | .Ma

© = | - Cy ®) 7

eﬂ@é;a;@ eflenanumy um.]qaﬁués GHlug
@ = o ® o
© =z | o 7

22.  India’s first nuclear plant started in the year
(4) - 1950 (B) 1955
7 1960 L D 1965
BEBLTedd 19pd oigne oo THUGFHL O
(A) 1950 | o (B) 1955
(©) 1960 (D). 1965
€ _ ‘ 9 | ~ JSOC16.
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23.  Electrode of thé ﬁrst.qud in voltammetry is
(A) pure metal electrode in equilibrium an anion
M pure metal electrode in .eqﬁilibrium with its cation
(C) pure metal electrode in equilibrium with salt

(D) ° pure metal electrode in equilibrium with a buffer

Lﬂdtm@ﬁﬁl.;.l U@Dunuﬁaﬁld) LwenT@Ld pge euans Wleteumureng)?
@) afipuaiyer swoflaauigici e Cons Beraumi:

B Cprwuefluyer sufleaudigdrar Q;Géns lesreumis

©) edyLen swfleauigidrar 2 Goons ‘LﬂdTGUITU'J‘ '

D) . grisgiLen swfleaulgidrer o Cars emeumi

24. Which one of the following amino acid, when substituted for glutamic acid in the chain

containing 146 amino acids of haemoglobin, causes the disease sickle-ceﬂ anemia?

(A) Serine
(B) - Cystein
(C) Alanine

abGurgCarmiafe e drer 146 SufiCam sfle sufdy Asm o GELs abosHdE udors
Epsar_ apg SAGem sfwsms uHSH Asiigred Hsda-Qsd Qris Canens Gpmi THUGD?

(A)  Qeenyer

B AeverLen
©) aafen
(D)  Causnaen
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25.

Find out the incorrect statement(s)

L Atomic nucleus is about % in volume as compared to the entire atom

II.  Nuclear forces are similar to electro static forces

ITII. Nuclear forces are s'hort,range upto 0.10 fermi |

IV.  Nuclear forces fall rapidly to zero at distances less than 14 x10% cm

/Il'andIV | . i

®B) IandII

(C). IIIonly
D) INonly

Seumen Q&rrji)Qn)m_r’r(&mm)é P

L SIgiGamedlen Sar seTay ToF -G Sigpiellan sar BieneurGLd

L ogmssmelilenssar uS]m Feoe seuiré eflensseners GUramg

III. smau @mdluw gy aﬁlm&&m&@@ (gmyb 0.10 Quind euenry)

V. gimb 14x107° Qaf @epyd Gung aq@a‘;a;@ censaer yRBusddE 2 Leangwuns

@a)g‘)qi.b
A) I wppw IV
® lwppo Il
(© III i @id
® IVwies
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26.

27.

Which among the following has I =3?

11 131 10 3

A)

»

“Xex:n , (B) 2Hés |
5BIO . N (D) 5B1V1

Qeneumeuencuppiet argi I = 3 wdleuyent wig?

A
©

11 131 10 3
- B, 5 Xe ™, BT, ;He

54Xel:'ll ’ ‘ (B) ‘ 2He3
5Bll) . . (D) 5Bn

Find out the incorrect statement(s) -

L
II.
II1.

- IV.

.

©

Electron capture is similar to positron emission
s Fe®® and ,,V* on Electron capture yield Mn and Titanium respectively

Of M(A)-M(B) >1.02 MeV, electron capture occurs and lgss than 1.02MeV then

positron emission occurs

Both electron capture and positron emission happened to decrease the stable n/p

ratio
IIT and IV o ®) TandII
III only (D) IVonly

geupren AemHADrLiT(Hmar)é sHreira '

I
IL

IIL.

crasL_yren o Arfiyb, uradigren 2.18lpayb el

e Fe® ppib ;, VY cesigrer o Srdgsond wopGu Mn wppid e GL.aflwubd

2 Gaurdpg
M(A)-M®)>1.02 MeV  araiis, qesigrer ol &y Sswh s
M(A) - MB) <1.02 MeV arafiéd, el pmén 2 18pey Pagd

IV. @®fspasesd feowoy n/p dfigges GoplugharsGe g@;@_uy&é@m

A

©
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@ v -
: _28. The inability to absorb vitamin B-12 from the mtestme and permclous anemia will be -
detected and estimated by radiation isotopes

o oo

® K*¥
(C) K39
: (D) 1127

Qu@kigLadmbs e L1 Bi2 8 2Migs s sereo wHms @rés Comemasmans
s flhg seTeliBbd eperpulle) Lwam@ b sHAwss pCarCLIiyseT

@) Co®
® K°
@) I'iz':

29.  To study the changes in the body composition, lean or fatty tissue is achieved by the isotope .

(A Cs-131
®) I-132
©) Na-25

maﬂ;s 2 1 eSléin sran_uﬁlm FHuBW Blq.L06T (aq) Slgwearpn Hasseflen searenomws asmn_;b]u.l 2 gyt -

g(ﬂsrrcn_rruq
@ Cs-131
® I-132
(C) Na-25
® K-40
€ e | 13 - ~ JSOC16
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30. - A cyclotron cannot accelerate

" (A) Deutrons

M Neutrons

(C) Alpha particles
(D) Proton |
- easECemr_gremméd ap(Hés Qplq.u.lfrgsg
(A) CYTO L
B)  Pupgmen
C) <ourgser
D) yCyrlmén

31.  The activity coefficient of strong electrolytes is

(A) one

M less than one

(C) greater than one
D) zero
aSflw A lﬁzam@aﬁaaﬁsar ey Qsfleys GemasHen wny
GV |
®  pewp i smpe
(C)  genenp &AL Sifisid

D) ygfww
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-32.  An equation relating the n;.ean activity coéfﬁciént; to the ionic stréngth of the solﬁtic;n is
(A) Debye-Huckel equation
(B) Debye-Huckel O‘r_lsagar equation

| % ]jebye-Huckel Limiting law equation

| (D) Debye-Huckel Bronsted equation
gma apﬁa;é Qedlay @mra;li; WHHD Swehs G&;ﬁleﬁl pélenL_Cuiyerar AgnrenLs GH&@ED FroetLT®
.(A) leaL gﬁov&&d) &mérurré
B) e AN CEEE QYATFTSIT ame'ururr@‘
©€) wouap ésd Gepallds swaLn®

(D) eenLl D& greeuLL swemur(H

33 In the tltratlon of silver nitrate against potassmm chlorlde conductometrically, intially the

conductance remains.constant due to

(A) Fast moving K* ions

(B) Fast moving Ag* ions

(C) Fast moﬁxig Cl- ionsr |
M Both Ag* and K* ions are éame mobility - :

é]s‘oeufr é)pi@uﬁam, QumiLrflud GCamear®HEs cr,flm;a; s%ﬁg)én - SIbUNTSSale,
\..-_ng,m.bu;ﬂmmuﬁld) sLSgFmer LAPIPOESSE SyewTLd ' -

@ K a@qﬂsaﬂdr SfCeis paiey
(B) Ag* aqu.lvéﬂsaﬂdT aﬁcm;‘s paEiTa)
© a@@@mmn& pemw Cl- swefser | . -

D) Ag* wppwop K* a;ujaﬁa;aﬂdr @Cr ;55@15 SeenLD

-
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34. The term polarography used when the polarisable electrode used is _

(A) SCE | DME
© ot . @ Cu
CuraGrrdlymIuier Lwenrg b @mme;Qs&éT \Sleirapenen
)  SCE | (B) DME
© pt . ® Cu

35. In hydrogen-oxygen fuel cell, the hydrogen is converted into

M water -

(B) hydrogen peroxide
(C) methane

D) acd _

@PL_TRT — S saligen erfiflen sewafie apL_pme OTHOOIL (haug
@, i |

B) oapgger Quir YamsE

(C)  BSgCzen

D) e

36.  The activity coefficient of an ion in solution can be calculated only with facts about’

(A) ionic strength and ionic radii |
(B) charge of the ions and dielectric constant of the medium

/ ionic strength, size of hydrai;ed ion and its charge

- (D) total ionic strength and charge of the ion
@@ Siwefluden Gl&u.:a)ﬂgpm GIMEHDS 5amuﬂ|.. &ggssmn. T8l Seuflb?
Q) swels Qsfley, Dwe S TID
B)  swef Bengamio, om s Gmepear wrHed
©  swahsGsfle, BCrlu wwadiar Lgwer oppid Sigar siwef e seno
D) Qurgs swealls Qsflay, Swa vuﬁléw-a)m |
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3 37

38

39.

‘ Which one of the statement is false"

(A) Fuel cell produces carbon free electnclty

(B) = Fuel cells are quite reliable

(C) Chemical energy is stored in fuels
M More v?eight éompared‘ to other batteries

Sipseim. ahgpymﬂa) gl gwmmﬂg?

’ (A @ un@m Benseiisdr Lenasuddan L&arerrum SmE epen

(B) cnﬂ@urr(r_r,m L(Slmsa)mesm pmua;mnanmcu» _
©) oft Barswhadsd Guf 2uppd Calbsiil Garag

D) pp Henaonsmar 6L craL. sifswrang|

Electrod_e material of the second kind in voltammetry is
@A pt ' B) Cu

@ D) Au
enanpssts LGLLIMLEAD @reimLmb cuens WaTeumis THTE) 2yeng?

@ Pt | ® Cu

© Ag | D) Au

Stainless stéel does not rust because
(A)  Crand Ni combine with Fe |
M Cr forms an oxide layef and 'protect‘ere f;oni rusting
(C) ' Ni present in it &oes not rust _ |
(D) | Fe forms a hard chémical compound with Cr present in .it
&To'o@ SIMLI S5E TOIeTDTED ”
Vi Cr m;og;m Ni, @@mqum G&n&ﬁmg
B)  Cr gsosh 21666 2 (mauréd @iy gﬂ@uﬂwu% 5Gifpg ,
©) a’fe a;mpgmm Pésa g:@ulﬁhq.cs&rrwa) a,a'rerrg_]
D) Feeg @cqntﬂuggLé;r aslq.attpﬁar Gsiogens e (HaunsGApg!

w . JsocCie
: : ' [Turn over




40.  The concept of pH was introduced by
. . ~ .
(A)  Arrhenius Bronsted

B)
(C) Lewis | ' M Sorensen
pH erélp Qanarensamw erhu@gHueuir, wimi? '
A) srapcafwen (B) ugmemevL

©) gmlav D) srrr;ésr;én

41. The compound that is not a Lewis acid is |

(A) BF; » B) AlCl,
© BeCl, Ny pf BaCl,
Seraumearaupgyar genm @il Sifleon Gdrena, Bigl agi?
(A) BF, | ® AlCy
(©  BeCl, o . ®) BaCl,

42.  Which of the foHowiné is a half cell reaction?

A) Zn +Cu® 5Zn%* +Cu
B) | .H" +OH™ ->H,0

% -Ag*. +e —Ag
D)y Ag*'+Cl” -+ AgCl
\Yeineupeueau HIIGT 6T DD THR clapamuT@GLd?
A)  Zn+Cu* 5Zn%* +Cu .
B) ) H'+OH - H,0
© Ag'+e">Ag
D) Ag*+Cl”>AgCl

JSOC16 . o 18



e
43.  For which spectral studies the sample must be a solid?

M ESR spectroscopy

- NMR spectroscopy
(C) Electronic spectroscopy

(D) Mass spectroscopy

Epaaeir e HpHlre gy e, mrr@rﬂ 3 [ ;ﬂa)wuﬁlw LDL@LD Pmas (Smem@l.o?
(A) ESR fipfigironena

(B) NMR fipfiydomene

©€) eaesigrafuw ﬁm;ﬁlq&)mwmw

D). ,Qurr@as‘nmm Bpfirédwrene

44. What is the use of TMS in proton NMR spectroscopy?
x Internal standard : ‘(B) External standard
(C) Solvent B (D)  Shift reagent

' qGrJrn_l_rrm NMR ;ﬂm;ﬁ]g@mnmmu&]e) ’I‘MSeoT LILIGH 6Tg1?
Q) =s L Quoger , B) uypHio Qulr@en
(©  seyiunen . (D) psiey sryerfl

45. -What transmons accompany electronic excitation when a gas molecule is excited with uv
light? ‘
(A) N uclear spin excitation
(B) Magnetic excitation _
& Rotational and Vibrational excitations
D) Oxily Vibrational excitations
R0 UL APOESI LD 26IFT a@rr & ﬁmnqs@mmrr@m Gurrgj reosL_yratiw mrr;p;pmus@L_ar
Coipg HLLiLiean :
A)  smbg sHA Herieurésd
B) sbs aﬂmr‘mu T&S&ELD
(O spdf vpmbd iFitey Harreunssid
D) oflirey Qeriraunéstd L [HLd
€« 19 - JSOC16
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46. How many signals are expected in proton NMR spectrum of acetaldehyde?

@ 1 Y

© 3 - D 4
DAL mdgemanigen LiCymlLrer srhg a_LaﬂmaeﬁléJ Ggrrsis@ub MFDEHET cr;i;génar?
@ 1 | ® 2
© 3 , D) 4

47.  Which of the following is esr active?

(A4  GCeHe
®) CH,"
(C) CH;-OH"

P’ CH;

Yenaumeuaneudper esr sm_(Heaugl 6152

&) CoH

®) CH,

(0 CH,-OH
®  CeH;

48. . Aldrich-Mees line is a feature of chronic poisonihg of

(A  Lead " (B) Mercury
- % Arsenic D) Cbpper
GénaumeuataupmeT ergen if HEsTeD, D fen-Bav Car® e am épg?
A GQel B) Quie
© yisalls | - D) smour

JSOC16 | 20



49. In case of rotational vibration spectrum the selection rule for R — branch of the spectrum is

Ad=0 - ® AJ=-1
/AJ—H (D) Ad=+2

&Lpedl — a@rrsq ﬁgpmrrma)uﬁla) R- 9fleyé@s Cairey e erenan? -
A Ad=0 , (B) AJ--.IA
© AJ=+1 @ Ad=+2

50. Which one of the statements is false for McLafferty rearrahgemént? |
(A)  amolecule must posseés a hetero atom
(B)  usually contain a z electron system |
d Hydrogen atoms does not mlgrate

D) Contains H~ atom y tothe C=0 system
Qmémrruﬁu; QL wrppgeg Qurnsg seuprer QerH@ADmLiT erg?
Ay @ apo&san danl Crr g dsamay Gugb;ﬂ@é& Geauan b
(B) Guﬁgjajna; V4 —Gfeuél;lyrrsisr SieLoLIeLL] QupPlmés Couar@id
©€) @anlrger sgmssst QuwiTauSHome

@) eenwiGé C=0 GsrE8ss ¥ — Ao H a@l@@é& CouctrBd -

51. Mention the fragméht haviné m/z value of 32 in the mass spectrum.
(4) CH; o  ® cHO*
©) CH20ﬁ+ ' o W CH,OH™
Heop Flyeller m/z = 32 wﬁﬂqamui ﬂmmé Gg;rr@@aiu.lé; @,rb]ul_‘ﬂ@a;; '
@) CH: " . ® CHO'
(©) - CH,OH* | I CH30H’*

€ S | 21 S JSOC16
: - [Turn over



52 Which of the following iron complex is mvolved in electron transfer in plants and bacteria?

A) Myoglobm

(D) Transferin
STUTRISET O Lnsle lursseafie ere&L e rhp eflemansafies FHURLD @@qu DANWTE| TF?
(A) @LDGUJH@G@WIEI& |
B) Guiﬂt.rr&’é)én
C©  Qufdngn
D) worencv@uiicr |

53. The oxldatmn states of i iron in hemoglobm and myoglobin are

9/22 | ® 23

3,2 | - ®) 3,3
afCurgGarmAar wHmib ewCurgCermiern ¢ drar Bmwlen gsalgCamp e papGu
@ 22 o ® 23
© 32 . @D 3,3

54.  Strong acid cation exchanges resins contain functional group
(A —COOH group |
®B) = NH, group
(C©) ~Quaternary ammonium group

y -SQO,H group

adflwillE ade Coir aqu.:f;aﬂ uflrdoi Afensefien eémmqg QzrEs
4) -COOH |
(B) -NH,

- (O -—prendlenenw aq(%mrrasﬁu.lm

D) —SO H

JSOC16 - PR - €



56.

-

P1ck out the nitroxyl complex(es) whose EAN is 37 and 35
L. {Co(NO)(CN)s]s‘ o
I [Fe(NOYXCN), ]
III. [Mn(NOXCN), I~
IV.  [Fe(NOXH,0),F"
A LI M IV, 111 © II,1 | O I
Geneu(mid sl Grrensed Dienetaysafich ;Ba;n)' a@v eremor 37, 35 p_mt_ﬁ.lmm,ri)mgjés EneTE
I - [Co(NOXCN),]~
I [Fe(NOYCN) "
Ol [Mn(NOYCN),J*
IV. [Fe(NOXH,O),["
@ LI ®B 1V, m © IIL1 @Oy Iv,1I
* Find out the incorrect statement(s) '
L Dixnethyl beryllium is polymeric and contains Be — CH; — Be bridges '
I1. Tna]kyl aluminum compounds are generally monomeric
L RsAI - RLi - Al[LiR,]
Iv. Tr1 phenyl aluminium is dimeric and contains Al — Ph Al bndges
,uf'n&m o ®) I1&IV
(C© Illonly 5 - (D) Ilenly
SEUDTET QsmpAprLiTsemers srrés'urs 7
I ml_.@mwd)'@ulﬂaﬂunb umuq.g",gtrmmsu <ife Be — CH; — Be ure @mmruqa;m 2 _eiremen
II. wer s@@sd sguilalud Gsromad Aurgaurs @MU SsTarma
III.  R;Al - RLi - Al[LiR,]
Iv. g &y Senened aagu.ﬁ]aﬂu.u.o @@uu@gmﬂg} alﬂa) Al - Ph - Al ure @msmuu&m 2 _eTere
@) m&m | . ® I&IV
© I Lm'_@l.p - o D) Hwoieo
23 . JsocCie
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57.  Find out the correct statement(s) with respect to myoglobin (Mb)

L. It is a heme containing protein contains heme unit connected to polypéptide ¢hain
II.  The polypeptide chain in Mb contains 15-20 amino acid residues
III. N atom of hestidine is involved in coordination of Fe with Mb polypeptlde chain

IV. Molar mass of myoglobin is about 7000

[ 4

A I&IV : MI&III
© III only ' (D) IVonly

anwCurgCarmlenen (Mb) Qurysg sflwren QerHQADTLiT(Smer)é esrrés'aras

L B85 afb SeE-LAAULMLG sy Qaanps afb :.;u’gu:rr@l.o

II. @ger unediQuiien, B el 15-20 SifCam ife QuuisameruenLwar

. @& Fe i, Urel@uiaL 196 2 eTer Gaviguer N ~eigpiey et BevarpHmédanpear
IV.  @gén qpaésag crenL gpgsmp 7000

@A) &IV : | ®) &I
©) I @o - @) 1V ol G

~

58.  Find out the incorrect statement (s8) with fespect to haemoglobin

I It is a Fe(III) porphyrin, ‘oh’ complex
II. Its mblar mass is about 64500 ‘ o
III.  Fe(III)- protein i responsible for the brown colour of old meat and dried blood

IV. 100 ml of the blood of a normal male contains approxlmately 1.5 g of Hb and Hb -
contains 10.95% of Fe

M v | ® I&m

(C) Illonly : - (D) IVonly

afCurgGarmiamean QuIpss seuprer QeTHQpT_i(smer)é srers

L s e Fe(ll) urnIfen, eraryd ang.e Simanray

IL Qg gpasamp deaL gpssmp 64500 @0

L. vepwu Qeopsd wHgb 2 ephs PréssHer Loy Apsde Fedll) L{TSLONED

V. sngmyem gyefier @réssHen 100 BeS0 gpssme 1.5 Spmb Hb wpmd Hbé 10.95%
Few o_craren :

QA I&IV . ® L&II
(© I ' @i @) IV @b

Jsoc16 < Y e



59. Find out the incorrect stateme‘nt(s) :

I Ferredoxins and rubredoxins are examples for protein compounds havmg Fe-S
linkages '

1L Proteins with single Fe atom surrounded by 4S atoms by coordination are called
ferredoxms

III.  Proteins containing Fe, and Fe, clusters are called rubredoxins

IV. Both Ferredoxins and rubreddxins are electron transfer agents

@ N&W . ® maw
A usun . @ 1&I

seuprer QempAUTL_i(Sear)é Srams |

I. Ou:ﬂl_rré&]éra;@m, mAuflLrédl ns@nd Fe - 8 Aearriiyerer Uyss Gér'rwréj.smrr@m
I gafl Fe igney Breng  sOUT  Sigmdbaet ggmﬂmmuﬁlw QméEL yrshiser
QuilLnaflenser cramiupfenpen : -

IIL. . ypsrisafid Fe, wpmib Fe, eimemesdar @mpared maAuf_réfersdr sramiu@deamen
IV.  QuiiLréflens@pbd, mQuilLréfanas@sib cravdL grar wrhh syerllsamgbd

@ N&IV | ® NI&IV
(€ II&II ® 1&I

60.  Glass membrane electrodes with some modifications can be used to determine cations of

x singly charged

(B) doubly charged

(C) triply charged

(D) tetra valent (quadruply chuéed)

seTemie & seua] Wlareuriiger APlg wrHpSHHLI ey serLHluils utuso‘trr@m Cpir auaﬂsaﬂm &ento
A)  gpeps mmuamu.@
® @i sevueLLg

© (y)foaomét m:.oua)l_mg |

D) prenflenemé sewY LIS

€ B T S . JSOC16
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61. Find out the incorrect statement (S)

L Phosphazenes are linear polymers V
II. They have general formula (PNR,), where R = (F,Cl, Br)OMe or OEt

III. Common phosphazenes exist as trimers and tetramers
- IV.  Inphosphazenes N and P atoms are tri covalent

@A) &I ®) IIonly
(©) IVonly | ®) 1&IV

seupren QerhApr_isamers sTarrs

I.  urevufenaer Ber auigeu LQLIGEET

I1. 2ige QU apevésap eumiuT®H (PNR ).; R =(FC] Br) OMe am)e)g OEt
L. Qumgeurer LrsLSEEr WUILIGETEALD BTG QFRESMTSA|D Siewdamer
IV. umevuéersaiie N wppib P signéser peuciianer sablanammenL.wies

@ mem ® o6
© IVl - Miew

. 62. Find out the incorrect statement (s)

I Silicones are organopoly siloxanes ’
II.  Silicones are classified into linear, cyclic and three dimensional
" III. Linear silicones are obtained by polymerisation of RSi(OH),

IV. Hydrolysis of RSiCl, yields dialkyl dihydroxy silane
A I&II : ' (B) Ilonly

© &IV . © IVonly

seupren G&n;i;@gom_fr( ésmerr)e's SRS

L Sa&Cananser aretuer sflwLred AorsGaveansert @G
1L SNl&Caneasdr Bewreney, cuamemupEIL LG LDHHID (y)uu:ﬂmrrm@ml_wmm eTenr Qe
- auesui(® Qewiu@dlenper

III. RSi(OH), B ueugurssgsd 2L UGS b AdsGararadr QupLILBHempert
IV. RSiCl; g grmpuiy Qewwiu@n Curg mudasd eemapL-yraad SGaoen Her1_&8pg)

@ 1&I ®) i@
MHI&IV ' | @ Voo
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63.  Distribution coefficient in solvént ext:action‘ is represented by
. @ G | . ® H
# K ® s
sepLiurer sThipsaiHer i (s Gamsd GREsiLPag
®» ¢ ® H
© K o o @ S

- 64.  The axial méthyi group in the cyclohexane has
(A)  one n-butane gauche interaction
(B) no n-butane “gauche interaction
% two n-butane gauche interaction
d)) i:hi'ee n-butane gauche interaction ‘
as&EGarr QansCsafldr sisa Q LDQQG’O QAsnrsd e‘rﬁ rEa&meranb slleneray
A)  emn— Gy CLén sy elaaray '
(B) n- GO CLenarg efaarey Gdena _
© Quam@®n- LSIy_.;,LGL.s'cf &g efienarey : .
@) apeTn N — ﬁ]gL(Su_ér s eflenarey |

65.  In Elimination reaction state of hybridization of carbon changes from
#” p° to sp?
B sp to sp?
(C) sp to sp’
‘(D) sp® to sp®
Bés evande smiLen Qendaariy s're'uq;.lrry wryuGHpg?
@ 5 to sp? |
(B)  sp to sp?
(C) sp -to sp®
D) sp® to sp®

€ 27 - JSoC16
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66. Acids are zfeducéd to primary alcohol by

A) bsmium tetroxide

)f Lithium Aluminium hydride
/(C) Diborane o
D) Sodiuﬁn Borohydride
PO PR g}rﬂa;)cmu.l DUOETEH GOESILPAIBHE - Saytd
Q) ewllub AL gréman(®
@B SsHubd sgfleflud eapl er®
©) e Cumymen

D) Camgqud CunCrrenangeny®

67.  Nitration of nitrobenzene gives

(A) Ortho nitrobenzene

% Meta nitrobenzene

(©) ~ Para nitrobenzene

D) Tr nit:qbenzene

apLCrm Gudrémé Q);[bl'_lj’&GGﬂji)me Qs Curg e Liugl
A  iECar GU)‘[BI'_GIIITI Quicn&eir

B)  Quiireap Gyr Auerdan

©) ummeplCyr Gﬁdirﬁdr

D) epeny evplCor Quenen

JSOC16 ~ 28
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CH, y COOH _
68.  The compound N C= C\ has the configuration

£ M
E- conﬁguratlon

M Z configuration
&% R - configuration
(D) S - configuration
' CH,  ,COOH | |
y C = (‘\ erénp Geimold Qamewmg (HEGLD LpGeuafl Siennlyy
A) E - ypQeuefll siemoliyser
@B) Z - ypQeuaf BiewLYGEET
(© R - ypQasafl eoriyser
D) S - ypQeuell LU EET
- -

69. Different arrangement of groups in space which can be converted into one another by '

rotation around a single bond is called ' '
-~ (A) Matamers -

M Conformations -

(C) Enantiomers
(D) Configuration
ST SMTLIGT @HenmL) R Sp—— Qurpsg smiy SPHAuden strammons 2 aT_TEh QeucGay
- @qm@&mmﬂ QupeugpE Guwr | |
(A) VQLDI'_I_ITQLDI'TGI"D
. B)  asseowiy ' _ , K
C) eaearenGLmorr |
D) . ynQeuafl emOUIY

€ _ 29 : - . JSOC16
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70.  Pick out the incorrect statement (s) respect to nuclear spin and moments

I

Odd-odd nuclei have mtegral spins and odd-even, even-odd have resultant spin odd

" half integral

1L

III.

If the number of proton is odd and neutron even, the magnet1c moment is large

.negative

If the number of proton is even and neutron odd, the magnetic moment is small
negative '

| J/ Monly - ® I only

©

I only D) II&III

gD FPHEl O ﬁ@ﬁqﬁgpmmu Qurmég saupTen Gerr;j;@mrrLr‘r(smar)i ENETS.

I

II.

IIL.

A)
©

POOD—ROOD JIEEHESET WPYF Spddlseenud YIS ggpanm—@m.,cm_ @m_sm_—'

. @mwm SigEEmEEdT @hep 1/2 &gmeﬂ&@mm Qupgiererer

L[GUWL.LWGBT&GI‘HGH aenerfléens  ghep wOpL  Hu grerser @m_am_ Gummmm
g samesefien snpg ﬂ@uq Smes a@smn@n Tt erentoijeni_wig?

@rie  LCrrlrensafien Grewrmﬂa;mas wHpDd @heop  Hulgretsmae Quipgrerer

Sigésmasaiien snpg Amiy Sper genps arglirgenLoenL gl

II wi G ' @) III w' Gw
1wl @u _ ® N&II

71.  The principle used in hydrogen bomb

W)

a7
©)

D

Nuclear fission
Nuclear fusion
Nuclear explosion

Chemical reaction

DADL_REN GeRTiq & LIWTURSFID SHFIeULD

)
®
(©
®)

JSOC16

SIgISam Seriiy

’ él@l“@ Menemtiiy

SIGNSHT 2oL L1y
Caufleflenan
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73.

74.

The psychoactive compound tetra hydro cannabinol present in marijuana is derived from
(A) Chrysanthemic acid ' R '

(B) Farﬁesyl phosphate

(C) Caryophyllene ,

W Olivetol and geranyi phosphate

A 5@5&“6&1@ o arer wen gifig Peve w@HSTar ALLIT eank Crr sarendame sumiéss Cameauwnen

 Caud@ummer ereneu?
@A) HarGapsils silleb

B) urenflér LmevGLIL

(0 &G euicdlen

D) e wppib Qggrrenand LGLGLL -

The red pigment extrécted from the roots of Madder plant is
(A) Bismark Brown ' % Alizarin
(C) Indigo ' (D) Congo red

A Iq H,a'ar@ Qe mbE Hess0 Qugib Astiy Hpduler Quuit eréner?

(A Qevwnis Wyayer ¢ B) idlevfer

©) QengCar - M) smCGsr sy

Which of the following compound is the precursor of testosterone and cholesterol?
(A) Nitrosyl cation
(B) Carbohydrate

K Squalene 2, 3 - epoxide

(D) B -D- erythro furanose

QLevGLmevig Cymen oppb Qarapliy suinfléEs LweLIGDd apen AumeT
A) el Crradiéd Cinden swef

B) ariCGureanyCrl | |

C) cvgden2-3 - FULTEMVDH

o s -D- erflgCor &Qqeém'du _

31 | | JSOC16
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75. How many oxygen atoms are there in citral?

M ‘one (B)‘ two

(C) three (D) four
AL grelle) o drar gy safiger signdsalicn cranarEms

@) goy - B) Qran®
© oy @ pre

76.  To whiich class of compound does camphor belong?

(A) Carbohydrate (B) Alkaloid
(C) Hydrocarbon % Terpenoid
SDILILD THS USMLE Ceipgg?

(A  sriGurenapl Grl_ B) vsomi®
(C) oap  Crramiuver o ) Ql.ffL‘ﬂGsrfru’.n@

77.  Which of the following terpenes optically active?

(A) citral-a (B) citral-b
W menthol ‘ (D) geraniol
th;raJ@lb QAuinSerseaficr geafi Db seraniowienL_wig erg?
. A  SAlopmev-a ‘ ) Qané -b
(C) Guengha _ D) QAgGrefwre

78.  Which among the following has highest molecular weight?

(A) glucose - (B) fructose
(C) sucrose ' ﬂf amylose
eTaupaRTeIDDIET SIEs apedsn ) TeLLI@LILIE 6T5)?

A) @@é;cgrrsio B) YrECLnen
©) &&Cymav D) siemwGarey
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79. Predict the product :

CyH,yN,0, _'L—’

(A) C,H,NO,+C H15N02 (B) - CyH,;;NO, +Cr, O,
©) CyHyNOz+H,0 - (D) CyH,, N, 0, «C,, HyNO,
aﬂmm@un@@m@gngﬁ@g@
CyH,y N,O0, G0y | _
A C.H,NO,+C,H,;NO, (B . CyH,NO, +Cr, 0,
(0 C,HyNO,+H,0 | (D) CyH, N,0,+C, HyNO,

80. Barbiturates are the drugs used in the treatment of

M epilepsy - s (B) spondylitis

- (C)  rheumatoid arthritis (D) fever
Qésra.l@mmmj)@d'r THHEG (HHSTS gnﬁﬁqQGuL@&cﬁ wetuhEing
A)  euelliy Cpmds ‘ (B)  @pL&@ answ

© il angbd o D) gromo

81. Most commonly dsed raw materials used-in the manufacture of ethyl aleohol are

S Potatoes, rice and maize (B) Potatoes, oil, ammonium suplhate
(C)  Glucose : ‘ (D) Bacteria
- TEH oSt Qu@mcrrsﬁ]m swrflode uu.uearu@m Qungleurar gpLs Qurr@usar g7
A) o mewen, fif wHoud Carembd : B) 2 @mener, eranQeri), obGurefwid &GDGI_II_

©C) EEsstsme ’ D) ursefur

" 82. Among the following compounds which is not a terpene
(A)  Geraniol . B) Nerol

(©) - terpinol S M1cotme
Aeneumeuareupmier QLmiem cuensenw Corrgs) e1g1?

A Qgrefwre : - (B fge

©€) a-QumSeme : D) HCsm _iqen

e - - g3 - | JSOC16
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Which one of the following is produced when mtnc acid reacts with organic protein matter?

M Picric ac1d (B) Nitro glycerol

(C) Nitro toluene : - (D) TNT

&fho  Yosl Qun@ﬂ.&i@;&r aplfs suflob eeeygnd Auryg daaGaaauppd g
o a@mLrépg? ]

A) Yafs e , (B) mpLGr;rrﬁaﬂ&r;rr@ '

(©) eopCyr QLrgyeSen ' | D) y.etemiy

-

84.  Which one of the followmg antidote is admmwtered when hydrogen sulﬁde gas poxsomng
“occurs? . .

(A)  phenol-
(B) citric acid
(C)  sodium hydroxide

M amylnitrite and sodium nitrite
MAML_ TG Fo U® m&&rrgaﬂe) GleneueuaTalpmieT lﬂuﬁmnﬁwuu@m eflas apflay erg?
4 Sewrew 7 ' :
B) Hifs e

(C)  Gemgwib gL yrsens®

D) s enpLenyl Hpd Camguid epLenyi

85.  Which one of the following is correct?
(a) Metallic Arsenic is not poisonous

Arsenic trioxide is poisonous

M (a) and (b) are true a B). (a) is true and (b) is not true
() (a) and (b) are not true (D) (a) is not true and (b) is true

ﬂdrm@mmm;b@d‘r sflwureng?

(@) o Cons HiCsafls pss sioe

(b) iQsalls yerursma® pés

A) (a) wpgw (b) sMwrearencu (B) (a) aiﬂu.lrras_rgn (b) gcu',mrrang
© (@) wipid ®) paprerg D) (a) pespreng) (b) shuneng
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86.

87.

88.:

Which one of the following forms of phosphorous is toxic?

M white or yellow » . -

(C) copper‘ phosphide
(D)  calcium phosphate

- uirevugedlel 6THS allgeuld HESTENS?
(A) . Qeuewrentn (.gad)a)gj) DEhFET |
B) Asuy
©) smiur ureveLR

D) sreflunbd urevGul.

-

When formaldehyde is consumed excess by humans, in the treatment the stomach wash .
solution contains wfuch one of the followmg”

(A) Sodmm chloride solution

(B) Ascorblc acid solutmn

(O Acetlc acid solution
' M 0.1% ammonia solution

weflgiaarmed urrnmrreoqmgm@ Bé& fHwons 67@5515 Gasrra'r@l.o Gung, Hfsmsuier LeTELD
euuﬂg)gn &5 Qeluyb saraadle o dterg

Q)  Gsmqwib GCamTary R HenFEe ’

B) SevsnAs s s;a)r,wei)

© =4 :'_l;;;é; 2flE samrsd

D) ) 0.1% 1Comaflwr .5musé>_.

Which one of the following is grouped as volatile poison? ,

(A)  copper nitrate . ” formaldehyde
(C) silver nitrate _ - (D) zinc nitrate
AeeupeuaTeuDmIeT org) peung BE&? ’

(A) sTour mpLGqL ST B) _-urrr'rmrr_d)iq,aig[r)@
© é]mmrr anpC Gl D) HuseplCri
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89.  Which one of these is used as a pesticide? |
(A) Ethylacetébe
M | D, p' -dichloro diphenyl] trichloro ethane
(C) Tetra hydro furan
(D) Benzylchloride
Bpacm_cupper peTy gl L FAEGaTO LTS uws&fu@ﬁg)gj?-
Q) afosaGLL '
(Bj D, p'--ml_@,cmrr&m Lo Lemnened gy GGarmGyr FrGgerm |
(C) Qg ewapl Grm olsypyment |

)} Qu&rm&ég@mrrmry@

90. Benzene hexa chloride is used as a’

(A) Polystyrene , (B) Teflon

M Pesticide o (D) Polythene

Quenéen eranésT GCeTTerr®, LIS G(H — Q,&Llu.ldm@élg)g..
A)  urelavenfier - ' B) Quiemer

© yfs@andd D) Uneis8er

91. The recommended threshold limit value for carbon monox1de is
x TLV 50 ppm
TLV 300 ppm
(C)_ TLV 0.1 ppm
(D) TLV0.05ppm B
&L Gmrrwné;eb&@eh, sifsfssiiun. QU Hlenev eremean?
&) TLV 50 ppm
~(B) TLV 300 ppm
(C) TLVO0.1ppm
(D) TLV 0.05 ppm

JSOC16 ' 36



- 92.

93.

94.

In the expression, }-!-il%lﬁ=0.l342. Using significant figure, the answer shoﬁld .be‘
written as | |
@ o1 | ' o3
(© 0134 ' D) 0.1342 -
11x0.122 PN - o :
————=0.1342 QunmEreLw Qasshisdr Uy Copaa ellen_amw erups Heni-tiug?
4) 0.1 ' : B 0.13.
0.134 S ®) 0.1342

(©)

The closeness (or) concordance of results in a series of same éxperiment is

Accuracy

& Precision

©
®

Standard deviation

Coefficient of variance

6Cr Cengananuflé sem_Husiui L épq.ma;d‘r & marer AL QBHESTR, A

@A

(B

©
)

gé)aﬁuJL_iS

Silub

Sl efledsd |

WwrHUBL GeRTED

Calculated and the truevvalue‘fbr experimental data are '16.34 and 16.28. The relative .

error is

A

0.06 ' S , B) 0.37

S 0.0037 . @ 369

2 Cerganenuile 5m;ﬁ_w0pl;L wHIy wHHD 2 e s wenCu 16.34 wimn 16.28

©)

| YEWw. @sen dgmiy Genpuler Ay ?
@ o

0.06 B) 0.37
0.0037 | D) 3.69

37 : JSOC16 -
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- 95.  The total ion exchange capacity is expressed as N
(A) " Millimoles of exchanger - A

W Millimoles per gram of exchanger

(©) - Millimoles per kilogram of exchanger 7

o) Molés per gram of exchanger

Gmn{sg swefl uflorpy Hpeer sam_Hloug erg?

(A) | viorpHlsafien B Cuordaer

B) ufwrphseiian, gum Armie o drer Bloed Goraser _
©) unﬂmrr;b;ﬁ]aserﬂeh. e HCordlymile o_drer el Gu:rré.)a;df
D)  uvlwrpHaefier, em Lrmld o erer Guorawsdr

96‘. Separation by iIPLC which employs' single solvent is called
(A)  Gradient solution - (B) Gradient elution
Isocratic elution (D) Isocratic solution

@Cr @ seriurer Qsraw® HPLC -& Gfgge apenp ereucumpy amw&ws&u@tb’é
A)  gDp Qnés sarsse S B) a Do Qués Bigse
©€) swwren gigse B (D) swwrer swrssD

97.  Name the HPLC Detector

(A) Flame Tonization Detector ' B) Thermal Conductivity Detector
(C) Electx_‘on Capture Detector . M Refractive Index Detector-
HPLC -9e LIlLIGGTﬂ‘@lb Ggfeuren - “

A suir swaflung Qgfeurer B) Qe sLgg Asfeuren

©) sl grer 2 dreumii@ Ogfeunar D) galssdi fesad Agfeurer

98. The most common pai'ticles sizes for high performance liquid chromatography column is

(A 3Sto5S5mm S (B) 3to5nm
M 3to5 um D) 3to5pm -
) Sifis deugip Hrey evarerriQfenaudar LSSuIoH Qurgieunsi) LWETTGLD gisaTaatiam LimLoes
A) 3Iypsd5mm , B 3yse5nm '
© 3gso5um | @) 3apge5pm
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. , .
99.  The least sensitive HPLC detector is
(A) Absorbance detector
(B) Fluorescence detector
M Light Scattering detector
(D)  Electro chemical detector

G®PHS Fapemtivays Apen Ganewr HPLC Qgﬂmnaﬂéif s
A) edeams

®B) gofiigd
C) gafdfigpe
@) BeGus

o 100. Name the gas chromatogfaphic detector

’ (A) Absorbance detector

(B) Fluorescence detector o o L
” Thermal conductivity detector | ' N

(D) Refractive index detector =

aumyBpl Qfleas Ggiﬂémaﬂs’n Quuwit H(H5.

(A) o M¢sems Qgflaurer ' - S
(B)' gaflitge GgMeumer :

C) Gawums gg Ogfeurer -

D) gofl desd erar Qgfleumer

101. In reverse bonded phase chromatography, where non-polar statlonary phase and polar
mobile phase are used to :

(A)  Elute both non-polar and polar solutes -
(B) Retain polar solute and Elute non-polar solute

y Retain non-polar solute and Elute polar solute
(D) Retain both polar and non-polar solutes

aHonsg Génenrey gﬂa»a)cou) BApuhfemsudier, apaareunn @u.nmsrr .r_ﬂmmmmu_;m (y)a)areq;ou) @u.mu@
;B]ma)mu)tqm LweTURSSULIHgTD Aapeug
Q) wearaypp wHHID @marajg);p seor@umgper GfHg Qmaﬂm@aﬂmmm .
B) oaapp sorPUTmHET &8 meaussULILE paaraupy seorAurmear SRbg Gamﬁu.xrrﬁan,rpar
©C) @aeraupp sS@FAUTHET 568 ereudslILILH aperareybp serQummer Ifibg) Gwaﬂm@ﬁm@
D) A peneneydd HMID peeaTeuDD STRUITLET S65 @eussliL@Henmen
€ | : S 39 o JSOC16
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102. Factors favouring the formation of ionic bond are

(A)
®)

low ionisation energy of metals and low electron affinity of non metal atom
high ionisation energy of metal and high electron affinity of non metal atom

W low iohiaation energy of metal and high electron affinity of non metal atom

)

high ionisation energy and low electron affinity of non metal atom

- Swellé Gsmob 2 HeunausHGF s1sswTar SryewfEdr

A)

B)

©)

D)

e Cansgdlen @empeuren au_laﬂu.ur&@;m DPID SCrSSH 6 @a»gpsurrm GreSL e Seuft
2bHPGID

e Carasflen siflaomrear au.leoﬂu.mes@,m <2, HOENLD a@wn&g@m a@aswnar T e &6
D@D .

2 Conaslen @empeurer Sjweflurégw HOID cgq(%mrr&g@ar a@smrrar TO&ELTen &eult
BHOSD ‘

e Canssden sifswmen cfpm_us(fﬂu.ure’s@',l.’:) QY pond Carsssen @mmcurrsur.cra)ésu'_mrs&r S6ui

A DOYID

103. Which one of the fo]lowmg is the n times of the angular momentum (mv r) of an electron in

a circular path? _ .
h . h+2x
@ =5 | ®
h , ‘ _ h-2x
or | ' ' A(D) 2z

QL Ourengude sHf eumn G sreéL_yrafer Camam 2 hgsden (mv r)‘ wdliy, Epsrepid ergeafien

‘I’ LLRISTE QHESGLL?

h ’ . R¥2rx

A 222 . . B) h
ok - h-2x
© 5= | @ ==
104. Cation excha_ngers 'are of types.
@ 1 R s
© 3 | D) 4
Crir owafl ufiwrpisaiien cuamasser
@ 1 o ® 2
© 3 : o D) 4
JSOC16 40 | €



105.

- 106.

© 14h2/8mq2

" Match List I with List II : |
List I | ListII
(Energy of particle in (Degeneracy)
_ 3D cubic box of length a) o
(@) 3h%/8ma’ . o Non existing

() . 6h*/8ma’ Trif)ly degenerate -

1
2
3. Non degenerate
4

d@ O Six fold degenerate
@ b © @
A 1 2 3 4.
& 3 2 4 1
(O 3 2 1 4
D) 2 3 1 4
uligwed I e e uliguwied Ilenws Qurmsgs :
uquwe I C _ uiqwie 1T
(@priuRwnesr embd ‘a’ o Gar Ga a5 (1D Frenoay)
" Quigulien o arer gsefiern < HHD) ) :
(@) 3h%/8ma® L e mamaufdoae
(b) 6h2/ 8ma’ 2. @Lba)Lbé Epenioey 7
(©) 14h*/8ma? 3. Srewey s
d 0 4. oy aws 5ua5m6u
@ O © @
@» 1 2 3 4
®) 3 2 4 1
©) 3 2 1 4
D) 2 3 1 4

®

When Schrodinger equation is expressed in spherical polar coordinates, the angle ¢ in that
equation can take the values i :

(A) 0-90° . (B) 0-180° (C) 180°-360° ;a)' 0~ 360°
cfo&rriq_dr@ﬁ swetuT e CaTaT (peraT QHUISH®ET ApLNE eTIpsid Curs Hd PLoQupd
Canemrd ¢ Wilem ALY Qeveury CaupuBEpg _ '

(A) 0-90° (B) 0-180°  (C) 180°—360° (D) 0-360°

41 o JSOC16
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@
107. According to Bohr's correspondence principle the classical mechanics and quantum
mechanics give the same result when
(A) the system inter acts with radiation
(B) the system is placed in magnetic field
(C) the system is placed in electric field
the system is in highly excited quantum states

Curflen Qgreiy Cam_umlgeruy. sy @uaselugibd Geurarttd @u.:s&aﬁ]u.:gum &Gy apiyeney
TS ;ﬂmmu&]m Qaragw?

Q)  obs vl sfitciéasE o L{RSHWD Curg

B pg LY ETHS UO@IES 2L LHSSID Curg

©) <ps élmmﬂq.lﬂd!ua)gﬁg)@ 2 LRSS Curg

D) sps ety sds Seariayby GeunarL Hewss G&é’o@Lb Gurg

108. Hooke’s law of potential energy of mmple harmomc oscillator is represented by

(A) _ acircle (B) an ellipse
‘a parabola D) a hyperbola
anOdev aﬁlﬁ ppod sersiL s snig i ‘@mw QHD[_I)GG)Q) psSemaay aﬁnmmnaﬂuﬁ]m oHS GUEFLILLD
gpab GHlssLLGEDS?
A) @@ auamanund ) (B) Ber euewaruiid
(©) seyeumenud D) <=8 soyaanemud

109. Assertion: Helium does not exist He, but He} exists.
Reason:  The bond order of He, = 0 while bond order of Hej =0.5

 Both assertion and reason are correct and the reason is the correct explanation of
assertion

(B) Both assertion and reason are correct but the reason is not the correct. explanatmn of
assertion

(C) Assertion is correct but reason is not correct
(D) Assertion is incorrect, but reason is correct

sapm afeflud He, <8 @mliug @dame. .gﬂ,éumé; He; %so_ei'rmg.
STFeRTLD : Genawrisy uy. He, = 0 Genewriy uig He; = 0.5

A)  spgwb semep sMl. sTTaRTD Sapenp HapsEns:

(B) sppb sryerrapb #il. EMFERTD Sahen D [ﬂ@lﬂlmaﬂmww

© espp sfwneng). sryewid Seumy '

D) smpp geunneng. smyernd sflwirarg

JSOC16 | a2 €



110.

111.

112.

Choose the wrong'statebmbént among the fo]lowing :

(A) | 7z bonds are weaker ihan o bonds

® . | probability of formation of # bonds decreases and size of atom increases

(C) ~x-bonds are not formed bétween atomic ofbitals and hybrid orbitals B
% " 7 -bonds are formed between any two hybridised orbitals

- Spsaai sapdld aThE sadm Heuprang)? |

4 - 7-Qeaiy o Gemerienu G&Lés GODHS Hlevegsenamin aml;mg o
B) .zr -Qevarriiy 2 meun@b flapssey oigpeien siarey aﬁarﬂé@m Gurg geondps

© rz-feariy g PN LTREGD  soller -,g,mﬁh;’u_@é@b Qe G
pmr.@uym@a)mw ' .

M z- L‘lla)am_lq Qe sor9er Q,mﬁLurms@.s@ @mLGuJ pm;@uyﬁm@

The most useful sample holder in TGA is

(A) Silver ' : (B) Copper.
ﬁ Platinum - o - (D) Steel
QautiLs ereaLwhi't uGLUMieid wrdfswer g ya1E? -
@) foai ® smur
(C) Qermigemd o (D). ;fr."o@
When two hydroxyl groups in morphine are converted into acetate esbers the product
“obtained is ‘ ,
(A)  Pethidine ' % Heroin
(© Methadone . - ®) LSD |
wrirenLaflér 2 erer @rawm®H a)mlq.lyrrsa&a) Ogrgdsmer emél(tl_l_ GTEVLIT 4& Lorrg)pS]arrreJ ﬂmu&@m
efever@umasar eréne? , A
‘ (A) Quggenr : (B) Qapymen
©  Qugglurar . (D) oy
43 . ) - JSocC16
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| 113. For. the reaction "2NO(3) +Cl 2NOC1 the expenmentally determmed rate law is

—
‘ 2@ N
Rate : k [No] [Cl,)

What is the overall order of reaction? . v

@ 0 C® 1 VN ®) 3
' 2N0(g) +Cly ) # 2NOCl erenp ellenemudenr G&rrga)an pod sarluind L el GG.I&
ei18); eflenenCGeustd = k [No] [Cl,] crar,r_r)rra) Qurgg ellener uUaDS Green?

@A o ® 1 © 2 ®) 3

114. Which-one of the following statements about the rate constant k for a chemical reaction is
incorrect? '

1. the vaiue of kusually increases with temperature
II.  Ink is a linear function of /T ‘
/ the value of & depends on reactant concentratmn
IV. the unit of & depend on overall order of reaction
@ 1 e n  @m ® IV
T Gmﬁ eilamander elearGeus wmle k gt Gurrgg;g geupmen QemHAmrLit Grgj?
L ken m@uu Qurgiaura Qeutiufleaeamul durmss afs@n
II. In & &r wdiy YT eows Quigsey sienowjid

-

L. ke wdliy eflemeru® Qurmeiler SILTeeul QuTmSsa
IV. kanseel®durss doanudda saaaumsmul QUIDGSS)
@A I - ® I (C) 1I - O IV

115. The rate laws of a given reaction are determined
(A). by monitoring the temperature

y by experiment t

© . by adding the powers of concentration terms
(D) from rate constant

@ Aearder Gous cdsmaer Hiremsss smiq g
@A) Qauiu fevaerws GROLgaTED '

B) G&rr@mm epeLd

C) Liey ﬁmm&qﬁdr antsasang CariLiganmed

D) Geus wrHulSmBS
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116.

117.

118.

Assertion: The 3clx2 S, orbital has zero probability of ﬁndmg electron along X ahd Y axes.
Reason: " The 3dx2_y2 orbital lies in X, Y plane.

(A)  Both the assertion and reason are correct reason is correct explanation'for the assertion

(B) Both the assertion and reason are correct but reason is not the explanatmn for the
_assertion : :

(C) Assertion is correct but reason is incorrect
y Assertion is incorrect but reason is correct

Sapm : ~3d, yz Gra'rg) %m_‘ﬂl_l_neﬂm cradL frevens SeTHIgdEib Pspsse) X whgn Y
SsHe YRULTGD V
STERTLD : 3dx2_yz gmalLred X womb Y gesde o dreng.

A) smppw strerapd sfwurarg). srrerd spen Bl AsHng

B)  smppib sTraRTap Flwnag). sTr@ID sapenp Hlemsseorma
C) smpmy sfwrrang). sryeRmd Sougy ‘

o &OD Foupneng). &ryerrd sflureng

Pick out the Fermion. :
(A) Photons ' (B) Molecular hydrogen

#” Helium-3 - (D) Helium—4
Quinfureens CaipAs® - |
(Ad) Gurlinenser _ B) possmmy ean Fger

© a3 - D) a4

Why do rates of most of chemical reactions increase rapidly as the temperature is increased? .
(A) energy of activation is lowered as temperature rises ’

W the fractlon of molecules with kinetic energy more than activation energy increases
(C)  more collisions take place between the particles
D) average kinetic energy increases’

Qautiuflereens 2 wirggn Gurrg e slleanien Cousb ergeammed a;@wﬂasﬁ DSI?

(@) Hemireypy ppDd G@DssILBADS :
B) Hevieymy S HHe@EL ara.@;sa)rrar Quss gy HoeoeLs ngp;o @e)mgg&aﬂm Lﬁlarrasru)rremgj
<fafsdng ‘

C) - pasmpsErsEd @m;_(‘&mu_lrrerr Gmrrgsoa;m &Q&immﬁmg
D) wposapsafo syref Qubss bHpa a@&mmﬂmg

45 ~ JSOC16
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119. Which of the following is ¢orrept? |
A g >q> Getec > Trot ' B Qe > @i > Brot > s
M B > Grot > Qoity > Do | | D) Qetee > Uy > Gror > Loip
Epsaar_cupBle eg sflwrer auflens u@0? | . |
@A) G > Uiy > Qetee > Yoo B Qe > G > G >4y
© G > Qo > Uiy > . D) Gue >]Qtr‘ > Grot >y

120. When the sample is heated t':hrough the curie point in TGA
(A) the mass is lost ‘ -
d the magnetic mass is lost
© péramagnetism changes to diamagnetié
(D) diamagnetic changes to paramagnetic
Qauliu Gra)t_u.l;ﬂu uELILSe gp@ mn@tﬁmu.i éﬂgrﬂ qaraﬂma.u SLbG) Ga:uuuu@gg:m Curg ;ﬂsmwgl
A) peop@piy . '
B)  snpg Heop @iy
(€) umraTpss gereL LWTETHS gérmmu.nus LOmHPLD

D) LwrEThES ST LTITETHES SETE@OWNE WTHHL

121. According to Arrhenius equation which one of the followmg is equal to the activation energy
of a reaction? : :

@A) R—lq,lh(%) | ) /RT]@[-I‘%J-

.1 (K | K
—In(Z 2
© (%) ® T ln(A)
Diradefiwey - &mmum_lq.m Ul 6@ eﬁ}mmuﬁlm daritey Qsrer HHO &p&nmumm&eﬂm THDGE
sOH? fo
1 A) ‘ AY.
A —In|= RTIn|—=—|
@ -1(2) . ® rrm(g)
1, (K K
C) —h{—] ‘ RT In|—
© (%) - @ (g

" JSOC16 46 : E e



123.

| 122. Meson was discovered by

(A) Crompton - % Yukawﬁ

(©)  Chadwick ' () Dalton
 Bsrenen @@y pai | |

@)  &yroiér o B wCsmar

© smeds - " D) LréLer

In atom bomb the element that is used is

@) LU g

(C) 92’[_]'23':) » C ' (D) " 92U237' g

SIS LLGTLGSEILED Sefliod - -

. ( A) 92U23B » ' (B) 92U235

© U™ - ' D) . U™

124.  The principle in the cloud chamber is that the radio active rays causes

_ (A) ionisation of the medium
ﬂ ‘condensation of water vapour
(C) ° luminescence of ZnS screen'
) B momehtafy ﬂow of currépt
Cuos siempuied LweTuRAem ssgiab. ersina‘r@mdrg)r@, sfflwiss siadr
A Q#cbgm.b anfieow swiefl a;mt;mé Qau'.:eﬁsiﬂ,lpar |
®B .ﬁgn@m@ LiiglLré Qaiiflenper | |
(©)  ZnS- fey 55 Cord @_aﬂﬁﬁs&rms;r
D) shsrdswons lﬁisir(ﬁmnl;l;,’smg gwiw@ﬂénm@

47 o . Jsocise
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125. Which among the following is/are wrongly matched?
L PC,-PNg . - @)

I, Th™ (UXl)t%(24.5 days)-

nPH UK t2-118m) . - @)
IIL  ,S%, LAr% ‘ - @)
.IV. %Rans - 89A0228 - (iV)
(A) IV only
B) Ilonly
% 111 only

D)y &IV

.

Y etreupeuaneuHmeT sMwims Gurr@‘rbgng(mm) oTg?
L $C,-PNs - @)
. IL ,Th®™ (le)t% (24.5 prisd)- - (i)

o Pa®* (UX,) (t% _118 ) -

L 8%, pAr® - (i)
IV. g Ra™ - GAc™ - @
@A) Vol eoe

®B) I w @b
(©) oo
O L&V

JSOC16 ' o 48
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Dlg. SIFYEEHESET
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126. Find out the incorrect statement(s)

127.

I.  If U** has smaller critical size explosion will occur

II.  If U®® has sub critical size leads to safe

III. . The energy absorbed by the uranium nucleus to change spherical to critical shape is

called “critical energy”
(A) TandII - (B) IIand I
(©) TIlonly - S W only

S6UDTe Q&rrngmnu‘r(@;mm)é; STHTS

L U™ gopps orpy sl QupBmpsred Qe s Hapt

IL. U mrrgbgécmm@ oL 15 Gep SieTenauL] QAuibdl mbsmed urrgasrruutrrar@ »

L. wGreflwb sgEsn emaar ayasfdmbs sfurar wry areuord sigisam Gerimu
Baipis & Digswi> e ompp PP’ TrarLGD

A) Twppoll . (B) IIwopgo III

(© 1wl @b , M) I w @b

Which among the foIlowiné is/are not belonging to proton-proton chain?
I. JH + H > D+ e + énergy

I 1D2-+‘1 H! -, He®+ energy

.- ,D?+,D? -, He* + energy |
Iv. ,He® +2' He® —», He* +2,H" + energy

@A) I and IV K B) Ionly

P Moy o D) IandII

HGymii_mrer — L{GljrfL'.u..ﬁdT &;EIQQS}GO)UJI;I Qurpsg Spsasrarucupiblen geu;prrar@;bmmé; &N S.
I JH + H >, D? 4, & + gyppad

II.. ,D*+ H —,He’+ Q,g‘)mé;

I11. 11)2 +; D? -, He* + ayppéd

IV. ,He®+,He® », He* +2,H' + gyhped

(&) I wpmo IV ®B) Hw o

©) I we@w (D) IuwppoII

49 : JS0OC16
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128. Find out the incorrect statement (s) with respect to nuclear reactor
I.  Inbreeder reactors, moderators are not required
II.  Some amount of U - 238 is essentially present for breeding along with Th - 232 ton

III.  For natural uranium as fuel, liquid Na is used as coolant
(A) TandlIl (B) IIandIII

/ I only - - (D) IIonly

DIEEET me@mu up B seuprer QerHADTLIT(Seer)é Emeis

I Frep Signésm e oasEréd §rm$£le;ér Cgenauufdrene

.  &dgerey U-238 nr@gda eflewené@ Th — 232 Lenr sreufluid Caamaiurdpg
. Qupes U afQurmpereme, Hre G&mq..u.:fo ‘@aﬂfmﬁ] Luretna LwerEpg
@A) TuopgoII . B) I wpmw III

© Muorgd ©) wolGd

l, 129. Find out the incorrect statement (s) with respect to control rods in nuclear reactor
L. Cadmium is used as control rods at high temperatures
II.  An alloy of Ag with 5% Cd & 15% In is employed as control rod at h1gh temperature
ITI.  Boron alone is used as control rods in nuclear reactor
B\ B,C dispersed in Al (Boral) is a best control rod material
(&) MandIV ) & 1and I
(© Illonly | . ®) IVonly
Sigésm e-eelld sb9 s EUUESHmul QUIDSE sauprer AsTHADTLFamars STeRs
I. ewiQadufeasaid CalBwb &bl sL_Gln@sHurs Qesuerdpg
II. &fear 5% Cd wpgnd 15% In aap o Carsssemes ewi Qain faoseis b .
s_Quupsdurs QewoussuuhEDg _

1. <igy e masafier Cunpmen wi HCW s QLUGSHWssF AsLOLBSADS .
IV. B,C gsgiaflusde elpeilu ‘Cumgre’ Gaiow gm ADhe s sLQUURSSHID (Berr'rLewrr@h
@A) HDuopge IV ®) Iwpgod I
© I Eod (D) IVwieo
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130. The drug which increases the body temperature

131.

(A) phenobarbitol
” dmphefamine
(C) ethanol

(D) clonidine

weflg e_Lafler dauiuflawau dsfisa wmHS
(A) SCGarmu rru'nS]ers'u

B) o9 ewan

©) GI‘MGUTI.I’G.D-

) @Camafienn

The hquid drop model'explain
M Nuclear fission .

(B) Nuclear fusion

(C) Spallation

(D) Mass defect.

ﬂdrm@marmg}yeir craupenp Syeu Qem_ B uSrrﬁrﬁ Aers@Spng?

@A) oigbsE Geniy
B) ignsam Gemerriiy
©) avurCGaagen

D) AHeop @ﬁimur@

51
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132. Match the following aqueous solution in List I with List II and choose the' correct answer :

List I List I1
(a) NaCl 1. Non-electrolyte
() CH,COOH 2. Strong-electrolyte
(© CgH,,0, 3.  Weak electrolyte
(d) Phenol 4.  Partially miscible

(@) (b) © @

@ 4
®) 3 4
2 3 1

O 1 2 3

co
)
[y

[ .

ulrwd I-é edararaupden Sis seopsCon® Llywed II-é :Leirmarmﬁ)a)p Qurmsd sfwmer

eflereowp Coip@s®m

uliguied I ' uigwied IT
(a) NaCl 1. Bt ugelwde
(b) CH,COOH 2. adley Big WeLgef
() CgH,,0, : 3. audley Geom L&Ginu@dﬁ
d) Semwmed 4. UGS LWL soTipg

(@ (b @ @

Aa) 4 3 2 1

® 3 4 1 2
© 2 3 1 4
) 1 2 3 4
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133.

For the determination of pHof a sblution, calomel electrode is coupled with

(A) Cu-electrode

| M Glass — _electi'ode

134.

© pt'-— electrode

D) Ag- glectrode

@@ sapsdian pH gs sansdGarsude, sGomod Wearpeer @mw&&ﬂu@q@és@@ Wenapenen
A) Cu-ergpemen |

B) sewemy - L&éﬁt@pmaf

(C) pt —dengpenan

D) Ag- Wlepenest

The phenomenon of increase or decrease in the electrode potential as a result of change in

the concentration of the metal ion at the electrode surface is called =

(A) Decomposition potential

% quarisatiOn

(C)  Over voltage

(D) Liquid junction potential

Blenapanar LgLGd e Cans Swels Asdelianar Qun@@g@_@mu‘m DIDRF aﬁaﬁ&@fb Wesrapenar
g | . | o
A)  Aegap Heupmen DWSHD

B) oarunisd

‘(C) Lﬂma; Wlenan(ssLd

@) . Sre spHiy Bergpean Sigbsid

: - | 53 ‘ JSOC16
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135. In a breeder reactor ‘ - is used as a source of energy.

(B) 02 U235
© LU
© QU™

9Fi 2 ereulidr HORIES apets QuImETTE LLTUEL QuImer

Aa) LU
B) LU

© LU

O LU

136. The fdrm of extremely localised corrosion is called as

_ (A)  Sacrificial

M Pitting
(C) Mechanical
(D)  Electro chemical
SN @l_pﬁco LG é;bu@nb Sifliorend Geiaimswig
Q) germendpseid Sifiwmans
B) geenA@PD @.ﬁmnam.b
©) @uéssfivrend

D) VeGauduIwe Sifirand

JSOC16 54



137. One among the following is awarded Nobel Prize for polarographic technique

(A) Anderson S (B) Bronsted

y Jaroslav I-ieyrovsky _ (D) Fourier

) CGuraGrrmd 2 ulier Qurm_® Gpnu&) ufls Quppeud

A)  eyerisen o B) Gyrérevii® .
© - J.QapaiGymeva | @) ~Gumfwi

138. Debye-Huckel limiting law is
% logf£=—AZ+Z—J;

B) logft=AZ+Z-u
© logft=-AZ+Z-yu

D) logf+=-AZ+Z-u*
leU—-@p V&S QUL 6fld) erenuig arenen?
@) logft=-AZ+Z-Ju

®) logft=AZ+Z-Ju
©€) logf+t=-AZ+Z-pu

D) logft=-AZ+Z-u?

139. The pH of a solution whose hydrogen ion concentration is 3.3x102M

(A 648 - p( 1.48

(©) 17.00 o - . (D) 33

3.3x102M erenp enapL et swefl Qg Qaranr sampsalear pH erenen?
(A)  6.48 : - (B) 148
© 1700 - | ® 33

€ ' 55
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140. - Which compound among the following show one triplet and one guartet in its proton - NMR
spectrum? : : S

(A) Benzene
(B) Toluene

y Bromoethane

(D) Ethane

- yGpm_imeér — NMR fipwrenaudier s aplbiotg., mﬂ)gjti: R B Asrer Caiwb erg?

A) Quenfen

(B) QungyeSen
©  uCyrCGior ~Gpen
®) nGpen

141. What is the ‘g-value’ of a free electron?

@ -1
. (B) Zero
G 20023

(D) 6.023x10%

@ seflgs aas _grefldr g wdHir erarer?

@A) -1
B) R
(C) 20023

(D) 6.023 x 1028

142. For a molecule, which hﬁs no unpaired eiectron, what is the ground state spin value S?
Zero | | (B) One
(©) Two - (D) Three
Qeremunang adl_gren Qowns apeésmbed 56)11 ;ﬂa)a),.aigé;b.ﬂ wHO (S) erénen?
@)  ygub | o ®) gy
© @rew® @)  epény
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143. Stokes lines and anti-stokes lines are observed in which spectroscopy?

144.

'145.

(A) NMR spectroscopy
(B) Electronic spectroscopy

M Raman spectroscopy
(D) - Infrared spectroscopy

evGLm&eh oHmLD e GiuGLne'sdo'a.uﬂaséT aduan@gj s HpBlrdwraauicn?

4) 1By FPHA

B) cesgraflu
©) @umoer

(]-j)- 215& ety

Which of the follbwin'g molecules do not interact with infrared light?
@ co . ® E®F

© H0 | | &7 o,

DeraumaaTabDET gl Sissfaliy sdises_ar QoS &wl_éuﬁd)ma)?-

@ co - B . (® HF
© HO < ® 0,

How is energy of a photon ‘E’ calculated?

#” E=hr

@)  E=mv

(C) E=hx velocity of 1ight

@) E =h x wave number

9@ ‘E’ GurLnaflen gpHméd ereuaumgy sexmédLiLGAng?
(A) E=hy '

(B)' E=mv :

(C) E=h x gaflulen HensCauaid

©) E=hx socadm

. 87
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- 146. In Infra — Red spectroscopy the —OH group of alcohol absorb at

 (A) 2700 - 2800 cm-! : M 3590 — 3650 cm™!
©) 1770~ 1820 cm- (D) 3020 — 3080 cm-!
sssdaiy Hporaouis gosaprdld o drer ~-OH Agngd abs l&mmrﬂmmp Arls@
‘(A). 2700 — 2800 Q&5 _ B) 3590 -3650 Qs.8"
(C) 1770-1820 Qs.8" - (D) 3020-23080Gs.5"

- 147. - Which of the following molecules, does not give rotational spectra?
A HC CH,C1

o L ®
© co | 5
gz‘@&a'uh_ tossapsaia aps apassmmy spHd Hpworee Ast@luddme?
@) HC o - (B CHLI

© - Cco | ® H,

148. The selection rule for rotational Raman Spectra of linear rotor molecule is

M ri=0z2 o ® A=

(C) AM=0 M) AK=0
gmoen fipwreeuile Coftuidy é@eﬂ apoésaden Caiay aﬁ]ﬂaiu.l sam Bl
@) AJ=0x2 ®B) Ad=il
€ AM=0 - M) AK=0

149 The number of vibrational modes for Naphthalene molecule is |

@ 2 - ® 3

© 4 | | ﬁa’ 48

prigellen apassadléd UL Sifiey Wwa@sefian cramaiiaans craueueray
A 2 T ® 3

© 4 D). 48
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150. - One among the following features is not related to lead poisoning ,

151.

152.

% Diarrhoea

®B) . Encephalophthy .
(C) Abdominal pain
(D) Nephropathy

Qe péflemmed sHUBSLLTE GBI 61g)?

@ cus

B) epeerurdiy
©  anSpy e
@)  Apfoa Gamemmy "

Metallo enzyme contain Fe ~ Mo ~ § protein with molecular weight range from 2,20,000 to
2,40,000 is called ' ' : - .

(A) Ferrodoxin . o / Molybdo — ferrodoxin
(C)  Azoferredoxin > C (D) Rubredoxin

2,20,000 qpse 2,40,000 cuany qpevdsam eTenl 2 e g Fe — Mo -8 ypgiomen o CGans eranensid
(A) QuirGgrmsSlen A B) wrALUCr—QuiGyTL réflen

- (O oGsr QuiGymraden : D) mIQrrslen

Cellulose is used as a stationary phase in chromatography with mechanism

_\(A) ‘ Adéorption' |

@ Partition

(C) Normal bonded phase.
-, Reverse bonded phase .
" O&&)Q;Ga)rrdo Buniist flawmowurss _Oequa)ir@& Boldfies
A)  upoys sarsd ' -
B  uRELH |
(©  snguyent ﬂmawrc;q ﬁcba)aal.or

D) afyrés Gemanrey Hlarwento
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1563. Nylon- 66 is an example of
(A Poly—Propylene
(B) Poly-ester

@@ Poly amide

(D)  Polystyrene '

enparen—66 eranug) aTHHE e-STyeRTLD?
A) ured yGrrUGelen

(B) predl ereoL i

© . ured @

D) uned cven_fién

154. The monomers used for the preparation of nylon-2 and nylon-6 are A
(A) caprolactum |
" (B) alanine and amino caproric acid
W glycine and amino caproric acid
(D) hexamethylene diamine and adipic acid
d)poarrdr 2 wppib eapere 6 gurfLbeéd LweTTGW G LIy 86T
@A)  CaiGmGasL xR
B) sivamearar wHHLD SAGerm Galgmuis Sudled
(©)  Aeerfer oHpd USCaim Carigmds Sifewd
(D) Qapssr QusHaSer e wibiBen wHpID Sy 1196 siflab

165. Ether layer is used td séparate
(A) fibers
- (B) inorganic impurities .
M organic impurities
(D) none
FBit SIHEES LG ARGHH
(A ueulg et
B) aeflw wrsssar
©) sflw wresser '

D) geatugdome
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- 156. Find out the incdrrect statement(s)

I
II.
II1.

A)

©

BH; dimerises while B(CH,), does not
Ga(CH;), is monomeric as well as Al(CH,),
Ga(CH;), has a planar trigonal structure

In(CH,), (vapour) is monomeric but dimeric in solid state

I&III : - (B) I only

only - - P&V

sauprer QerH@AmrL_ii(sener)s srens

I
IL.
IIL

@)

©

BvI-I'3 @mugwrgb yemd B(CH,), @@Auq.u.m&lrg

 Ga(CH,), wpgib AI(CH,), b gL gpramme
- Ga(CH,), @&G&mﬁr ST DL IZ) -

In(CHj;), aumy flevaoudled L ssnangi. i Hevauded @@qugnmmm '

I& III ®) Il o @i

III o Gib | ‘@) &IV

157. The colour appe;alred after extraction of Iodine is

(A)
B)

Brown

Pink

_ M Purple

SN

G
)
©
®)

Blue

WNSQsHSEIEEL Gehr al(Su.:mq.@]ém_tu Bobd

upuy
Qergrflauiy -
gsrf

oo

61
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158. Finﬂ out the incorrect statement (s)

L

II.

III.

@A)

The effect of pH on‘ O, uptake of Hb and Mb is known as cooperative effect
Binding of additional O, molecules becomes easier in Hb is known as Bohr effect
Oxygen binding curve for Hbis sigmoidal ‘

Oxygen binding curve for Mb is Hyperbolic
IM& 1V

II only

geupren QerHQAorLi(sener)s srawrs

IL.

III.

(A)

®)

©

®

JSOC16

Hbwpmbd Mber syéelimemer Qaamsgn Spafen Bg pHer gsrre'ssl.B 55 a@ssenply

eflenaray ereaTuL®BD

Hb co e uAEH wsadger aelifo Qamansaw Hmer Cum eleneray crar;'Ju (B
Hb ¢ gy sadigen @mexré@m Hoen cuerguL Cam® HAéwomii_e

Mb. o saliggen Qeoaagd Hpen @muﬁg&m@ eapurGumer

III & IV

1 QT

IV ol puw

I1&II
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159. Find out the correct sequence of mecliénism involving hydroxylation of cytochrome

(@

(b)

(o) |

CY

!

Piso

uptake of 2H" ions leading to Fe IV cdmplex formation which attacks the substrate

»

to insert O,

reduction of porphyrin ring- of oxy complex by second electron to form ring radical
anion

-

resting state of Fe Il binds with hydiocarbo_n substrate

transfer of one electron .

y{c;d,b,a”

(B) b: C,d,a ) . ! =
) ¢dab | '

D) b,ca,d

a)m;(&_rr@G;rmb P, mgmz'_qrréa&(}?mgbg) aﬁlma‘rﬂs&t anfuden Qeue'u@sug Lilg SEOET

aflensluBsEs
(a) 2H'swefllsmer o drauriidl FeIV aaénmrm a@m@& ei]mafu@ GemoggiLen Guord
, .abé;aﬂ&&r QemsLiLBzw.
| (b) Q,é;gg]—a{mm}aﬁldrr urmQfer euenamwid @qaﬁTLnan acuét'.qr_rarfré) @@é;asﬂuL@ serfl Q_I_ij'iL{-
ésmam.: Grﬁouaﬂ 2 (HRUTSE : D -
kc) - eap Grr sriuer elleanu® Qurmesien Fe III Qoawrgd
@ g awsiyme s sd | |
F(Av) ¢,d,b,a | . o | | .
B) byeda
© cdab
D)

b,c,a,d

63 _ ~ JSOC16
‘ [Turn over



16Q. A primary isotopic effect is one which results in

(A) . The formaﬁon of newA bond to isotope
-(B). The breaking of the bond with isotope

W wo® in rate law

(D) (A) and (B) occur in rate law

epganend gGHICLITUY ellenerey SpaarrL eThg gadlammed ghuB&ns:?
Q)  yfuw Qevertiiy gG&n(?LnthLeisr qﬁu@mg&d)

B) g(gsnGLnqu_éT Sl @)enemriL] 2 L euGTed

©) A vdag B) daaniy sarsd@n m@uﬂo’a ghudb Curg

D (A oppid B) camaniy sarsA@ib afdls gpui> Cung

161. The order of relative reactivity of alkyl halides in Sy1 reaction ié
(A) Tertiary < Secondary < anary < Methyl
W | Methyl < Primary < Sec';)ndary < Tertiary
(C)  Methyl < Tertiary < Secondary <  Primary

(D) Methyl > Tertiary > Secondary > Primary

DNDNBD Ggma)a)v@e‘saﬂdr Syl eflenenulien Ggrr@ﬁa;aﬁér eu dimaGeus aifiens
A) @eﬂmmm < ?Frﬁa)a:oru.l < gflenamru < Gmggéo :
B) .ngﬁcb < Qnﬁmmm < ;vlﬂci)cmu.l < apehilenamris
© Qwéﬁc’u < gpeflanern < FflevamTu < gfenamru

D) Qugde > gellmanu > rllmaru > gy

JSOC16 64



162.

163.

164.

”

Which of the following group is m-directing when attached to benzene?

&) NH, - ~ (® NHR

© R, WﬁR

Epsrapib apg Gered QuandguL e Cemw Curg m G sHibeE Qsdaib?

&) NH, | . ® NHR

(C)lNRz. o ‘(D)I-ERs'

In Gattermann Kuch reaction the product found is -

&) Ketone | (B) Ester

@’ Adehyde @) Alcohol

GaL_LTCwen Csné eflevamuie HeL s@ eflener@uimmer

(A) & Gumer o \ B) e L -

© oyowd D) yosapre.

In perkin reactior} the intermediate is
(A) ‘. Carbonium ion

(B) Nitrene

(C) Carbene

% _Carbanion

Quirsdlen eflanamniier QenL_Hleva
(A) esrrr'rGurréuﬂqub aqm.soﬂ

®B) . eopL_ e

(C) s Sen

(D) sriuen aflitowef

65
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165.  Barton reaction involveé photolysis of
(A) @-f unsaturated ketones

(B) Diazomethane -
(C) Cyclic ketones
% Long chain alkyl nitrites having a-—hydrogen
" QencumeuaTeuppieT eTeneu geflellanen efeneneuna LmirC L e eflenew a@bmg&sﬂu@&mg
@A a-p ,ﬂmmm pr L GL rénadr |
®)  eLwCer BsCadn
©) aieaTw & CLrenaer

D) ﬂugnm sfed o — hydrogen Qareaim_ id&m&d pLMIL

166. Which one of the following reagent is used in chichibabin _macﬁon of pyridine?

(A) NaBH, &7 NaNH,
(© LiAlH, - ®) 0s0,

Lﬂdsla:@m;urmﬁ)gdt aranau 19y aften HFFlumien alenarnulled énqmﬁmrres Qeuou@dpgs?
(A)- NaBH, ' (B) NaNH,
© LiAlH, | ®) ©0S0,

167. Which one of the foﬂowing reagent in suitable to convert cinnamaldehyde into cinnamyl

alcohol at moderate temp? ‘
# NaBH, '®) LiAH,
(©) Raney Ni o ' D) 080,

gLomes Qmﬁu;ﬁlwwuﬁld) Gereumd eTHS Sryenf Acranondg.maneL Serareaniod S OEADTONE

rHHApS|
(A) NaBH, - ®) LiAlH,
© gGarNi a (D) O0SO,

JSOC16 R €



168. In Friedel crafts reaction ——— is ﬁsed as a catalyst.

M AICI, . - ®) -ZnCl,

BF, ‘ g @ cdo,

Gfie é]lyrrul_sm flenamid ARwr earsHuins vweru(Heugs
a) AICl, S B) Zn (312
(C) BF B - (@) Cdql,

»

169. Which compound undergoes substitution reactions slower than benzene?

OH = L NHCH;

- S ® -

F ) - o OCHs

Q0 Q)

Qemeumid erbs Camold Quenfenen A GoODHS Gw&g@m udleS’ @ eflenar qiﬂ‘aﬂg)gj :

NHCHs
(A) ®
© | oy O
€ | o | , 67 . JSOC16
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170. Highest ionising power is exhibited by

M a —rays ' o (B) p —rays

© y- rays o (D) X —rays

<ifs swefurgn Mﬁ Qa;rram_gj eTEI? -
A - rays . (B "B -rays

©C y- rays (D) -X-rays o

171. The power alcohol used in automobiles is a mixture of
(A) 80% alcohol + 20% petrol and sinall amount of benzene
% 80% petrol + 20% alcohol and small amount of benzene
(C)  40% petrol + 40% alcohol + 20% benzene i
(D) 50% alcohol + 50% petrol

cunseniisefe crtﬁQurr@mrra;u uu.ranu@ggsuu@w mﬁtﬁl@ <Y osanredld s_érm HOENE CTETEN?
A . 80% eg,a)agmn@) + 20% Qui_Ggmed wpmib HPgerey Auenden ’ '

B) 80% QuiCyme + 20% 2 saAnTd LHHId HPlgerey QuenFen

(© 40% QuLGgre + 40% yoaapre + 20% Quenen

O 50% yeosapred + 50% Gul_Grj'rra) |

172. The estimation of alcohol content present in liquors is done by titration using
= (A) ~ Sodium Thiosulphate |

_ Thiony! chioride
M K,Cr,0,
®) H,SO,

g urenhsafld o drer .zg,a)asgprroﬂar DjaTEneY m@uﬁ@ Qe LwieTu@RLD Qagﬂm srer Gaud

Quingher ereren?

A  Gsmguub sCwmsLGUL
B) . sCurafle @GCemmenr(h
(). K,Cr,0,

® . H,S0,
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173.. What are invertase and zymase?

' 174.

175.

M Enzymes

(9] Oxidising agents

(B) Medicines -

(D) . Reducing agents

GeneuirGLab whmib emavGLoe erémuemeu wreneu?

A)  erermsbsdr

©) eigCanpp smredl

In inversion of sucrose
(A)  Sucrose get oxidised

Sucrose get reduced

M Sucrose get hydrolysed

(D) ‘Sucrose forms polymer molecule

s&Crmadien seadip mnﬁ)pgﬁcb |

(A)  &5CGymav EARCaTPPLD Bjent_uyd

B) &é;(%rmdd @HEED et b

©) m$¢qndo Borbugliuen b

What is the source of nicotine?

A) 'Sugarcane

- (©) " Neem trees

jﬂés@srn'_uq.dn @.po.nS wng?
@) sy
(C) . Geuby

B)  wmbg Gun@l_'.;sei'r

D) @BsED smye

“ D)  &8Cyme LY Apesmmamer ComHmeésEd

M Tobacco plants

- (D) Almonds
®B) .qm&u‘.‘ﬂm@
D)  ursTd
e . JSOC16
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176. The sites of drug action, mechanism of their actions and their effects are c'oﬂectively known

as
(A) pharmacopoeia _ M pharmacodynamics
(C) toxicology - , (D) chemotherapy . '

W@®pg QSLILCILEL GLib, Wmpg QeuduBD seanto LHH sapid Guie erg)?
(A) LrioCamSwir B) umwlasreLandsen

© pés e Gué | D) wobs Hsems

177. Identify tropane alkaloid from the following

(A) Piperine L (B) Nicotine
y Atropine (D) Quinine
Geraumeuaraupmer g CrmIer gy daomi® erg?

(A) . Qufier : - ® HCam g6

©) e Comlen | D @Yaden

178. Complete the following :
Atropine _hMYS_ise
(A) Atropic acid
(B) Tropine
M Tropic acid + Tropine
(D)  Phenyl acetic acid + Formaldehyde
L THH Qalis h
@i’ CymQen SrrpuEiu 5,
(A) @ Crmis sudabd

®) ¢Gymber
©C) wCrm9s sifeid + 13.CymSer

D) Soerd S 1ns Sfeb + LmiTordg an®

Jsocie 70 | | e



179.

180.

181.

182.

To which type of alkaloid does Cinthonine belong? - - o ‘ SR |
@ Quinoline alkalvid B) Indole alkaloid |
(C) Purine base ' (D) Isoquinoline alkaloid

fenGareaaner abs SOSOMUG Sp— SBEGI?

@A) @u&]@@n@ﬂs&t cgj,dwswmbd B) @acr(':l_rrao Q,mssurru.:@

€) Oyfen smpbd B | 1)) gc:sn@uslcmaﬂm .Q,a)&a)rru.l@

Reinsch test is not useful to detect the presence of one of the followmg substance in a
biological sample ' ‘

- ( Barblturates R : - (B) Mercury
(C) Selenium - S - (D) Arsenic
& 2-ulflwe wrdfufd tﬁuﬁ]&rdo»(‘b&ugmar @aitb STERTAPIQUITSF)
@), urrOlauGr Geer ®) - Quirgh
©)  QsaSafud - (D) iQsafs

Biomethylation and bieémpliﬁcation of which metal caused Minamata disease?

(A) Lead ' - (B) Arsenic

© Cadxhium L - 4 Mercury

Epsamgmd Gl'pﬁ L(S@W&gﬁm o_uﬁhﬂ Qw;ﬁ@umgp@w D_US]!ﬂL] QU@M(y)LD L&anu:m_l_tr Gprru.m@s
a;rrummrraﬂar;oar? , '
@ Qe S ® Q,ﬁ@saﬂas

©C)  Caslbund . (D Quiseh

The percentage of oxyhemoglobm converted into carboxy hemoglobm during mgaratte
smoking is

(A) 0.5-15% ' - (B)_z—s_%
5w (D')'Io 15%

eﬂa;Or;L qamsut_‘ﬂm CGung q,serﬁlgﬁcmrr@(:mﬁ]m srrrrurrse& gﬁcmrr(gcmmﬂmrr& LD sge&léﬂgw
@) 05-15% ® 2-5%

(O 5-10% o . ) 10 - 15%

o . Jsocie
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183. In the Reinsch’s test, the result shows the copper foil is coated with steel gray or black
matter. Using this test which one of the following is detected

(A) Lithium | M Arsenic

(€)  Uranium D) Tin

QruilenGe Gangenan pugelle, 5rruurr &@erﬂa) Uiig 5 eiTemr a;yuq Ligey (1) 6Tee@ SMbLD Uiy

ThgIEET_Heug o ,
@ SpHuid B ai@eais
©  wGrefwid D) tq.dnv |

184. “Upon adding hydrochloric acid, white precipitate is formed in the original solution which is
solublised in boiling water and crystallises on cooling”. Which element is detected in this
test? ' '- ' '

(A) manganese magnesmm

(C). copper ﬂ( lead

“‘apevssenrseiicd mgmx_Gmr@Gmmﬁa; Siblojngs G&rrggna) fens@w Qauphp Spugey, @l_:ren
pid sahgl, Gelitelgsned Ber uu}.&mmﬂmg gl aps 2 Conasflparen G&rrgmar? :

A) vrsats - (B) Gw&aﬁeﬂmm
©)  smoui o ' ® Qer

185. “It is a heavy, colourless, volatile liquid with sweetipungent taste and characteristic <

ethereal odour” —These characteristics holds true for which one of the following?

(A) Phenol crystals ' .(B) Sugar water

/ Chloroform | : "(D) . Ethyl alcohol

N7 @@ Bpwip, semnorer, ewr@ B @eﬁﬂu erlﬂeagzm_@m mmumgwg R itles
' mm@,oml_u.lgj @uuaTsEB@L g eTEI?

| A)  Seréd LgEEIEET ' (B) ar’ré;mu-ﬁfr_ SHTEFD

(C) @CemGyrunid - D) wﬁ;@c‘o SLDSQDITED
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186.

187.

188.

Which ohe of the_ following is known to be a safe antidote for cyanide poisoning?
(A) lemon juice . “(B) gaﬂic '
(C) eucalyptusoil - I % vitamin Bz

swemen () pEssE pdley Lo@ﬁgj eTEI?
Q) e@iismes sty : - Byl
C) wsdlLev erawm@enis v - (D)  eveulraflen Biz

s

Which one of the forms of mercury listed below is poisonous?

(A) -mercury metal

V mercuric salt

(C) mercury amalgams -

D) liquid mercury |

Qemaumd AR angeukisafid erg pé&nng?
.(A) ‘ LGGDITBS. Quigfl

B) - Quigfa &dq

(C) ~ Quirgf rss seencuadr

D)  freu il

The arsenic deposit volatilises and forms a which coloured precipitate on the cool walls of

container? . .
P Wnite | " ®B) Yellow
(©) Red o ©) Grey

elurgb o Thsafls Lgaser saflen saufie @l igés aramgmEEL Sigen Hind

(A) Qeueirento o . (B) fo@a:ei'r _

©€) S&suy - o (D) Qabupiy
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189. Most effective pesticide is
o / Organophosphate
- '(B) Penici.llamine '
©) Ampheta;hine .
() Manure
B pps L iHs Qsrare org?
(A) sl LireoGUL
B) GQueaflader
© apbliewd
D) Qupes e g

190. Which of the following mimics cholera in its manifestation?
M Arsenié poisioning |
(B) Lead poisioning
(C). Copper poisioning o\ ) - )
(D) Mercury poisioning

" Gemeumeuciau ;i)g;&f crél a;#a‘n Qewoumy.é sreograeas Guremy :Ldrerfgj?

B)  ayisellspis
®) Qolpés
©) smourpss

M) Quigh pés

191. The number of signiﬁéaﬁt figures of the value 0.03024 are
@) 6 . S ® 5
Y & I ® 3
0.03024 erénp w196 QUi @EseL cremaeian cerenfidons?
@ 6 - ® 5
© 4 | - O 3.
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192

R%:Y)

193“ :

-194.

The t-test for the comparison of a mean with a true value is

o

© <D> b ELa

(X - uNn
s

T3

Vi

'&r;nsrﬂ_ei;@m; 2_GhTenLo m@ﬂ:nﬁl,@@& e Cuwrer AgrLiienu serrL_Hlujb t - G&frgmm‘(g-a;rrmm 61g1?

@ -

©

In partltlon chromatography, the statlonary phase used is
. A) _

©

(W] 3T IO ﬁmun&]lﬂm&uﬁlm uu_lam_l@m Bevewren flenewento Grg;?

(B) ﬁq@u Qurr@m

D) ‘unméob

@

©

X+=

(X~ uWn
S

J; .

solid
gas

,ﬁl;u_Q LIT(BET

aumy

o) emulsmn _

For the separatlon of Methane, Ethane and Ethylene mixture, the best adsorbent used in

ey ﬁlmﬁnﬁhﬂm& @ésimu%, BCgen + m5Czen + argdleSen swmaieow 9Més LWSTU@L UYL SeuiF

gas chromatography is

(A)  Activated charcoal

@ Alumina '

(C)i Solid matrix

(D) Silica gel ‘

Qumper agi?

A Gﬂﬁlgbl_l_uus_l_ sLenL &l
(B) . sxgderr

i(C) S eumirdiy

D)

eﬂgS]&rr Qge-
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195. What are the elements to which the flame absorption profiles changes because of oxide
formation? ' ' ‘

(A) Ziﬁc, Cadmium, Mercury
W Magnesium, Silver, Chromium
(C) Iron, Cobalt, Nickel |

(D) Arsenic, Antimomy, Bismuth

-

ap5 o Carshselar EmMmE L (HUTED g &gﬁl@ms sLfler QauaCag uGHamer
- wrHDEP? L , - ' '
B Anis, Cal B, Quigh

®  Quisatfiub, Abvai, GGrmAwb

© @oby, CamuraLl, Héso

D) wyiGsails, spemgwoaf, Geving

196. Calculate the standard deviation of the following set of analytical results : 15.67 g, 15.6.9 g

and 16.03 g AN
A) o0.15g - - j{ 0.20g
. (C) 025¢g _ ' - ®) 030¢g

Qeaumib LGLLTLey pieysafier Uiy weller AL dlosssmss sarsd® 15.67 fymb, 15.69 &ymb _

whpud 16.03 Symd \
A 0.158md ‘- B) 0.20 fgmod
(©) 0.25 Qgmo : : D) 0.30 &ymbd

197. Give the significant figures for 0.0670

@ 1 | B) 2
& o4
. A0.06700'JNQLIIT@@GDL GTERT &G |
@A 1 . | ® 2
© 3 » S D 4
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198,

199.

200.

In chromatography, the resolution of d1fferent substances are easily mampulated w1th

l k (retention factor) L _ '

a (selectivity factor) _ o , '
© 'N ('I‘heoretical plates) -
D) HETP (Height Equivalent of a Theoretical Plate)
;ﬂ;ouéﬂfﬂmas aperpulled, GaJaJGann Gerru:rma;aﬂau Gfens crafifled a»asu.urra'ru uu.lam_l@sug '
@) k(gés wari sy
B)  a (Caioy ayenl]
(©) N (sasdl® g‘&@asc'rr) | »
(D) HETP ('asmré;zﬁf_@ 6L 1g.61 21 S10maD)

) L
In reversed bonded phase chromatography - is rapid because of less
interaction and more solubility '
(A) Heat transfer _ ) | K Mass transfer
~(C) Charge transfer ' - (D) Equilibration
tr@mré;a; Geemriy fleveew Hpl@fiasdeo, - S gfigordlng, gQerafe @a)g);bgs
EeoLui® wHHb s serHpen ' | '
. (A | Qeuu wn;j;mrb B) Heop wrHOD
(C)  aew wIHD : R D) swfleournssd

The charactenstlcs of a bulk property detector is .
(A) Absorbance M Refractive index

©) Fluorescence ' (D) Diffusion current

Qur@eRTenio gL leﬂéﬁrraﬂsbr LIeuoTL-

@) o digsms B B) gt cfiooad err |

©€) gafiged | | A_ D) ureys® BHenGenm’ Lib
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10.
J11.

12.
13.

) IMPORTANT INSTRUCTIONS
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